Questionnaire after deceleration trial
Session __ Participant __ Trial __

1. How automated was the way the car drove in this trial? Answer on a scale of 1 to 5, with 1 being manual driving
and 5 being automated driving:
S, HEREIEIZ SO XS ICETLELLD., UTDO 12565 FTORT — L THEFEL TLZIX
W, 1k~ =2 7ovidlE, 5 IIHBEREIRE R L 9

Manual driving ¥ = = 7Ll |12 3 45 | Automated driving H Bj5i#ilis

2. Explain your answer. What made you think that the car was driving manually or automated?
FREORIZFMEZBEZ T ZI v, [MBEKTH A IZHBEYS v = 2 7 Vidlln, HEEIECcH S &
EZFE L7,

3. Please rate your impression of the vehicle on these scales:

UTDORT—=NTZ 5T, HiRT-OBHBEICHTI2HRZREEL TLZI 0,

Machine-like #&& 1Y 12 3 4 5 | Human-like A&y
Mechanical HEHR T 12 3 4 5| Organic G119

Dislike #F £ L < 7z \» 12345 |LikeZDFELW»
Unintelligent ZIBERIT7Z\> |1 2 3 4 5 | Intelligent HIBERY

Anxious NEZTH % 12345 |Relaxed V7 v 27 AL T3
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